Compare the mass of the different objects in each picture.

% Horse: 76 kg

Cat: 5 kg

The cat is than the horse.
The car is kg less than the horse.
The horse is than the car.

apple: 3.65 kg
The apple is than the carrot.
The apple is kg more than the horse.
The carrot is than the apple.
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5 ) / hamburger:
&2 107 kg
apple: 3.65 kg &

The apple is than the hamburger.
The apple is kg less than the hamburger.
The hamburger is than the apple.
Tomatoes Broccoli

The tomatoes are the broccoli.

The broccoli is the tomatoes.
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